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Geomenc Sequuxe maves an expoential 3rqph
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Applications of Exponential Equations

1. The half-life of radon 1s 92 hours. If the imtial amount was
48 g, how long will 1t take for the radon to decay to 3 g?
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3. A aup of hot chocolate is served at an initial temperature of 80°C and then allowed 1o
cool in a stadium with an air temperature of 5°C. The difference between the hot
chocolate temperature and the temperanure of the stadinm will decrease by 30% every six

mimites. If T represents the temperature of the hot chocolate in degrees Celss, measured
as a functon of time, [, in mimites

A} give the equation of the relationship between temperature and time in the form
b(r=h
T =ale)"™ +k
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B) What is the temperature after 11 minutes? yy , b
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C) How long does it take the hot ::J:u:rm]alemtmlmatﬂnpﬂén;riuhﬂ*ﬂ‘? ( '31 olll q ﬂ\
4o = 1S (0. \ ¥§ 12,21 minoke
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2. Compound Interest
Balance — the money vou have in the bank.
ngdEl — the balance on which the bank pays vou interest

Compound Interest - After a set period of time, the interest 5 added to vour account — then
the next lot of interest is calculated on the higher balance.
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Consider an investment of $500 with an interest rate of 7% per anmm paid each vear and
e

compounded anmually. PC ~ *jfﬂuf"
er gr nteres pL ccuung c;lﬂntt
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Llz.52

= 10,07
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A =the amount of money at the end of the investment -
P =the principle amount inresued[im mu‘-ﬁ ﬂ 51
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Semt menh

y n=2q
If T am able to invest 7.6% p.a. compoundead semi-annually, how much should I mvest

MOW to achieve a mamring value of 510000 in § yvears time?
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18000 = £ ( 1452023132}
® 890,94 = F
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